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Payments for factors of production:
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Unlimited wants give ﬁse to opportunity costs Basic Economic Problem arises due to
Limited Resources and
Unlimited wants[scarcity]
Affects;
/ 1.The choice of consumers \

2.The job options of workers
3.The choice producers have to make while producing resources
4. The government spending of tax revenue

Production points:
1. Points below the curve
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It tells us about the
allocation of resources
and opportunity costs

CREATES QUESTIONS

Consequences:
1. A right shift indicates an
increase in the country's
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